KB FF o RENFE T 5 B ¥

TrR25%108108 (K)

® Bl |EEKEM| AEkEN| MIkEM] & & —
B % % E (ke | 105000 16,600  59,100] 180,700 B R &
* B & B ?kg% B g %(‘EH?)‘E r n E
(Ef/KEWY)
(BECH 50| Tke 2100 | 2100 | #» f&
=hF 2.000] ke 1890 1| 210 =0UF<0 ®@
HL 00| Tke 788 1] 683 1| =&
N 6.410] ke 630 | 3155 F= =W fo
F0bL 200 ke 578 1| 413 1| & fe
hE 21.470| ke 1312 1| 315 =] mE o
£y 3.850| ke 1155 1| 724 || Ba BB
EREEO 3.460|  Tke 1,197 | 63 || 2 B fo
=h5 280|  Tke 115 1| 73 || 2F Bm
PR 1.320] ke 1312 1| 52 || dmE *=
EREEE 1.570] ke 1.386 1| 630 1| &I ZE o
ERAALE 2,400 ke 3204 1| 840 1| BN BE f
FHHLA 6.600] ke 1,050 1| 315 =] dmE fo
T 0l ke 2100 1| 336 || & o
=7 o[ ke 578 173 | LmE
2 <Y 1110 ke 1,366 =| 210 5] T% +m
By 2.200] ke 1210 5| 341 | =a o
= 020 ke 300 5] 69| == @mE
(A HEKED)
AEL AT 0] ke 29400 5] 577 1| Tava
AT 1.500]  Tke 05 = 74| Tavo f
ARG 1.950] ke 2951 =] 840 || ®E AoF fe
(M KEM)
e 1.200] ke 2100 5] 354 TE
e 600| ke 1,050 1| 94 —| 1mE fo
BT IZT5C 5 260]  Tke 2541 1| 1.050 -] &tme oo7 o
BEAE 1.280] ke 556 —| 357 || dLmE fe
TESyyE 1.590] ke 1,470 5| 368 1| dmE fo
BATHL 670|  Tke 1,155 1| 420 1| &8 455
E¥rhi 133[ ke 1620 1] 609 1| &R o
EUBA 2.880] ke 178 || 52 1| =% fo
nf-C
GE) 1. CORE. T2 BREEHOLOTY,

2. HRIE L TRES) TRA (BES) B O5BETT.

EEL. Eb020SNEAE [E5E5] & LTLET,
3. WEOEOXE. MBS BROMSE L LE L EHEERLTOES, 2L, HACKRE)

AEMot=, BB EBUNELGSEHERIFIEME LTLET,




